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PART-A / Hkkx&v [Marks :16]

Answer all eight questions (Maximum 50 words each).

All questions carry equal marks.

lHkh vkB iz'uksa ds mÙkj nhft,A izR;sd iz'u dk mRrj 50 'kCnksas ls vf/kd u gksA
 lHkh iz'uksa ds vad leku gSaA

PART-B / Hkkx&c [Marks :40]

Answer five questions (Maximum 200 words each)

selecting one from each unit. All questions carry equal marks.

izR;sd bdkbZ ls ,d iz'u pqurs gq,] dqy ik¡p iz'uksa ds mÙkj nhft;sA
izR;sd iz'u dk mRrj 200 'kCnksas ls vf/kd u gksA lHkh iz'uksa ds vad leku gSaA

PART-C / Hkkx&l [Marks :24]

Answer any two questions (Maximum 300 words each).

All questions carry equal marks.

fdUgha nks iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 300 'kCnksas ls vf/kd u gksA
lHkh iz'uksa ds vad leku gSaA
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PART-A / Hkkx&v

1. Define the following in brief :

fuEufyf[kr dks la{ksi esa ifjHkkf"kr dhft, %

(i) Gondwanaland

xksaMokukyS.M

(ii) Mango Showers

vkez o"kkZ

(iii) Forest Resource Conservation

ou lalk/ku laj{k.k

(iv) Rainbow Revolution

bUnz/kuq"kh Økafr

(v) Biodiesel Mission

ck;ksMht+y fe'ku

(vi) Geothermal Energy

Hkwrkih; ÅtkZ

(vii) Light Engineering Industry

gYdk bathfu;fjax m|ksx

(viii) Overpopulation

tukf/kD;
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PART-B / Hkkx&c

UNIT-I / bdkbZ&I

2. Explain the importance of India's geographical location.

Hkkjr dh HkkSxksfyd fLFkfr ds egÙo dks Li"V dhft,A

OR / vFkok

Explain the economic importance of the southern peninsula.

nf{k.kh izk;}hi dk vkfFkZd egÙo le>kb,A

UNIT-II / bdkbZ&II

3. Explain the economic importance of Indian forests.

Hkkjrh; ouksa ds vkfFkZd egÙo dks Li"V dhft,A

OR / vFkok

Explain the characteristics of Indian rainfall.

Hkkjrh; o"kkZ dh fo'ks"krk,¡ le>kb,A

UNIT-III / bdkbZ&III

4. What effect dose climate have on the economic life of India?

Hkkjr ds vkfFkZd thou ij tyok;q dk D;k izHkko iM+rk gS\

OR / vFkok

What are the main problems of Indian agriculture? Explain.

Hkkjrh; df̀"k dh izeq[k leL;k,a D;k gSa\ le>kb,A

UNIT-IV / bdkbZ&IV

5. Where are copper deposits found in India?

Hkkjr eas rkEcs ds Hk.Mkj dgk¡&dgk¡ ik, tkrs gSa\
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OR / vFkok

What are the main problems of coal industry in India?

Hkkjr esa dks;yk m|ksx dh izeq[k leL;k,a D;k gSa\

UNIT-V / bdkbZ&V

6. Explain the problems of chemical industry.

jklk;fud m|ksx dh leL;k,a le>kb,A

OR / vFkok

What are the reasons for high population density in northern plains of India?

Hkkjr ds mÙkjh eSnkuksa esa vf/kd tu?kuRo gksus ds D;k dkj.k gaS\

PART-C / Hkkx&l

7. Discuss logically the origin of the Great Plain of northern India.

mÙkjh Hkkjr ds o`gn~ eSnku dh mRifÙk dh rdZ laxr foospuk dhft,A

8. Analytical describe the problems of Indian agriculture.

Hkkjrh; d̀f"k dh leL;kvksa dk fo'ys"k.kkRed o.kZu dhft,A

9. Describe the cement industry in detail.

lhesaV m|ksx dk foLrr̀ o.kZu dhft,A

10. Explain "Indian budget is a gamble on monsoon".

^^Hkkjrh; ctV ekulwu dk tqvk gSA** le>kb,A

-------------


